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N.B:l. Question No.l is compulsoly /,.,""'
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2. Answer AIIY fmen questions from Q2 to Q6 'ili-
"tl
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QI. Answer(ANY FM)

f,,"
(a) State and explain central limit theorem. JE)'
(b) State and erplain Shantron's theorem. Y4

-"s
(c) Why ll,LSKis called shaped QPSK? ,r*' tnl\'
(d) What is EYE PAIIERN? Explain its signifieance- \.:tr*" @)

(e) Define Probability. Erplain Conditional and Joint Probabilities. ,':Y,#..-) (4)

(f) Difrerentiate between f,'ast frequency hopprng and slow frequency nop4iftf' (4)

(g) Differentiate between OffsetQPSKand Non-Offset QPSIL S (4)

Q2. (a) A discrete memory less source has an alphabet of with the probabilities-

(i)Construct Eufrman code. find entropy and ofthe code

(c) Compare Inter channet Interfpfiqfice and Inter symbol interference (05)
\'\-

Q3. (a) Show that for an inpu#s\ial which is a sequence of rectangular.positive and negative
pulses, the integrator and-@h[, Filter is the Matched fiIter. Bring outthe properties of
Matched Filter _"{} (10)

(b) Erplain a-ary Psg-f*h respect to the following:-

OfUo0ula$3$larid demodulation block diagram of Offset epSIL

(ii) PIot t[$]bwer Spectral densitywith relevantfrequencies and hence Bandwidth.

1iiil ryfti,tfJuatical exprcssion of the transmitted signal, Signal space rcpresentation and

hl:nce Euclidian distance.

I
I

\\"1
{fi)Calculate code efficiency and the redundanqqffthe code.

(iii) Construct Shannon-Fano code and fin$ft.efuciency 00)
I i'\.
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Q'4. (a) For a qysteriratic linear block codes the three parity check digits c4, cs and c6
are given by:

C4 = dI (E dit

C5=dt(Ed2@aS

C6=d2 @ d3

(i) Construct Senelygl riatrir and parity check matrir
(ii) Construct codes generated by this matrir

(iii) Determine error dgection and correction cepability

(iv) Decode the received codeword R(s) = I 0 ll 00.

(b) A convolution encoder has single shift registerwith two stages three
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Adders and an output multiprexer the forlowing generator sequcnce are

By the multiplexer to produce the eneoder 0/p: .+{i
gl{1,1,1), g2{,O,I), 93{1,1,0) St

(i) Draw the block diagram of the encoder 
= 
S

(ri) Obtain the Or? for the data: D = {l 0 1 t 0 LSB} P,
(iii) sketch the code trec and trace the path correspondq$#the message sequence D in (ii)
(iv) Draw the trellls diagram for the encoder. ,€)

1lfu'r Q.5. (a) with the herp_ofieat block aiagram ana{#.,form, explain how a messagetransmitted in BFSK? What type of-receivepffi;a fo.'sx,.{[,"-en*ian ?

I t ' r 're rqcrJ I{ADA ur$rar{l6rulatlon techniqug the Euclidean distanceis given by: - it r,\'d=210.48b fi\
if il:,fiflr'JflXf f,fr"Xf ***:*[Tl;**'consterrationdiagram

, ' Q'o' (a) f s"fog slgr"r *$*:LM ,:-s-p t"ryred at Nyquist rate and euantized
lHiff ffi:;y['nn\uues0's,0'r2s,0'062i0.2s;fi 

'oi;i;.lii,,i,,]ff *iffi"r,

fi 3j*,*"'ffi ffiffi,;ll';:I"liffi ;T.Jtrdn*er.(d) Exptain Lemoit-Cv c"rir,g i"'J*n
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